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https://whiterosemaths.com/homelearning/year-3/
https://whiterosemaths.com/homelearning/year-3/
https://whiterosemaths.com/homelearning/year-3/
https://whiterosemaths.com/homelearning/year-3/
https://whiterosemaths.com/homelearning/year-3/
https://whiterosemaths.com/homelearning/year-3/
https://play.ttrockstars.com/auth/school
https://www.topmarks.co.uk/maths-games/daily10
https://www.youtube.com/watch?v=nzK6eLbiFt4
https://www.youtube.com/watch?time_continue=57&v=o2rm6vrJw3A&feature=emb_logo
https://www.oliverjeffers.com/books#/abookaday/
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http://www.canonburrows.co.uk/serve_file/294727
https://play.edshed.com/login
https://www.bbc.co.uk/bitesize/topics/zkbkf4j/articles/zbm8scw
https://www.bbc.co.uk/bitesize/articles/zmmvtrd
https://www.youtube.com/watch?v=nzK6eLbiFt4
https://www.bbc.co.uk/bitesize/articles/zmmvtrd
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https://www.youtube.com/watch?time_continue=124&v=VwrsL-lCZYo&feature=emb_logo
https://www.dkfindout.com/uk/human-body/digestion/?_escaped_fragment_=
https://www.youtube.com/watch?v=NTjSbODJUgE
https://www.youtube.com/watch?v=NTjSbODJUgE
https://classroom.thenational.academy/lessons/to-be-able-to-name-family-members-and-pets-in-spanish
http://www.robbiddulph.com/draw-with-rob
https://www.childline.org.uk/info-advice/yourfeelings/anxiety-stress-panic/worries-about-the-world/coronavirus/
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1)	 What is each 
interval worth on 
each set of scales?

Each interval is worth

.

Each interval is worth 

.

Each interval is worth

.

2)	 	Mark the mass shown 
on each set of scales. 350g 48g 225kg

A bag of flour has a mass of 2kg.

What is each interval 
worth on each set  
of scales?

Each interval is worth

.

Each interval is worth 

.

Each interval is worth

.

The pointer shows the mass of one bag of flour on each set of scales. 

1)	 	One set is incorrect. Which set? 

2)	 	Ali says that the mass of the bag of flour on this set of scales is 800g. 
Do you agree? Explain your answer.

80g

0

     
        

  

0

12kg

   
   

      

0

20kg

      
        

  
0

2500g

0

300kg800g
0

              
 

0

1500g

Flour

visit twinkl.com



1)	 	Use the information shown to work out the mass of the chocolate bar. Show your working out. 

2)	 The mass of a watermelon is 1kg. How many bars of chocolate would have the same mass as one watermelon?  

 

3)	 What other combinations of ingredients would have the same mass as one watermelon? 

�

�

              
  

0

400g

              
  

0

300g

10 Biscuits

   
 

 
      

0

500g

visit twinkl.com



1)	 Sort these objects into order of mass from lightest to heaviest.

2)	 Use <, > or = to compare these objects.

lightest heaviest

1120g300g 1¼kg ½kg2kg

visit twinkl.com



Tomek, Mark and Geri are weighing their shopping items.

 

1)	 Sort the items in order of mass from heaviest to lightest.

2)	 Look at the statements below. Which do you agree with? Explain why.

�  

�  

�

 

3)	 Explain what is wrong with the incorrect statements.

�  

�  

�

0

g

300
0

kg3

4kg 960g

Geri says, “The bag of sprouts 
is heavier than the bag of 
potatoes because 960 is 
greater than 4.”

Tomek says, “The apple 
weighs less than the bag of 
potatoes because 175g is less 
than 4kg.”

Mark says, “The pumpkin weighs 
less than the apple because the 
pointer on the pumpkin scale 
is less than halfway but on 
the apple scale it is more than 
halfway.”

visit twinkl.com



1)	 Maria, Jemma, Ben and Graham have all been shopping. Use the clues to work out who each bag belongs 
to.

2)	 Write a clue to compare Graham’s shopping bag to someone else’s.

�  

�

3)	 The same shopping bags are placed onto a balance with some sets of equal weights. What can you say is true about 
the weights?

�  

�  

�

4)	 Estimate how many weights would balance each shopping bag.

5kg 600g 1120g2090g 2940g

Maria’s shopping bag has 
a mass of less than ¼ of 

10kg and more than 2kg.

Jemma’s shopping bag 
has a mass of more than 
4kg but less than 6200g.

Ben’s shopping bag 
weighs less than Jemma’s 

but more than Maria’s.

This bag belongs to 

� .

This bag belongs to 

� .

This bag belongs to 

� .

This bag belongs to 

� .

A B C D

5kg 600g 2090g 1120g 2940g

A

B

visit twinkl.com



1)	 Zach the zookeeper is trying to work out how much animal food he has left in each bag. 
 
How much food is left? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2)	 Zach the zookeeper put all the leftover food in his wheelbarrow.  
What was the total mass of food in the wheelbarrow?                                                     .

mass:                        . mass:                        . mass:                        .

You will need the Animal Top Cards. Zach the zookeeper is trying to work out which animals he can 
transport in his truck. His truck has a maximum limit of 500kg. 

1)	 What is the total mass of the animals?

2)	 Can Zach transport these in his truck? (Circle the correct answer). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3)	 Zach’s assistant says that no other animal from their zoo can travel with the camel in the truck.  
Is this correct? Explain why.  

�

�  

�

2kg 
500g 750g1500g

3kg 
300g

495g was used to feed 
the lemurs yesterday.

1kg 860g was used 
to feed the lemurs 

yesterday.

930g was used to feed 
the otters yesterday.

mass:                        .

yes / no

mass:                        .

yes / no

mass:                        .

yes / no

visit twinkl.com



You will need the Animal Top Cards. Use the information on the cards to work out the mass of each 
mother's baby.

1)	 What is the mass of one baby? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2)	 Explain how you worked out the mass of each baby. 

�

�  

�  

3)	 The total mass of some of the baby animals in 72kg.  
Which combinations of animal babies could have been included in this total? 

�

�  

�

516 kg 41 kg 200 g 387 kg 500 g

mass:                           . mass:                           . mass:                           .

visit twinkl.com



1)	 	What is each interval 
worth on the container?

2)	 	What is the capacity 
of the container?

3)	 	What volume of liquid 
is in the container?

Complete these sentences:

Capacity is � .     

Volume is � .                                          

A soft drink bottle has a capacity of 1500ml.

1)	 	Which jug does not contain the contents of a soft drink bottle? 

2)	 	Ali says that the volume of liquid in this jug is 1¼ litres.  
Do you agree? Explain your answer. 

 
 

 
 

 
 

 
 

 
 

0ml

500ml

 
 

 
 

 
 

 
 

 
 

0ml

250ml

 
 

 
 

 
 

 
 

0ml

4l

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

0ml

1600ml

 
 

 
 

 
 

 
 

 
 

0ml

2l

 
 

 
 

 
 

 

0ml

1750ml

 
 

 
 

 
 

 
 

0ml

2l

visit twinkl.com



1)	 Use the clues to work out whose container is whose. Explain how you worked out 
the answers. How much water could each one have in their container?

Container Volume of Water

Rafe

Aria

Henry

2)	 Two more children, Jessica and Mason, join the group. Jessica has a jug with 1450ml of water in 
it. Mason has a jug with 2l in it. Write more clues to add the children to the maths story. 

Container A Container B Container C

Rafe says,  
“My container is half full.” 

Aria says,  
“My container has 1000ml 
less in it than Rafe’s.”

Henry says,  
“My container has less 
than half a litre in it.  
My container has a 
capacity less than Aria’s.”

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

0ml

800ml

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 

0ml

3l

 
 

 
 

 
 

0ml

600ml
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Family Challenge  

Friday 3rd July 



 

 
 

 

 

 

  



 

 
 

  



 

 
 

 

  



 

 
 

 

 

 

 

 

 



 

 
 

 

 

 

 

 



 

 
 

 

 

 

 

 

 

  

 





1. Why do you have to chew food before it goes down the oesophagus?

�

2. What mixes with the food in your mouth?

�  

3. How much food does the average adult eat in a year?

�

4. Put these organs in the correct order to show the stages of the digestive system:

	 large intestine		  mouth		  small intestine		 stomach		  oesophagus

�

5. Where in your body does all the waste go right before it leaves the body?

�

6. Why has the author used an exclamation mark after the word ‘head’ near the end of the ‘Before the 

Stomach’ section?

�

�

7. What does ‘chyme’ look like?

�

8. Why has the author started the text with a question sentence?

�

9. Why has the author written ‘(say: a-soff-a-guss)’ in the ‘Before the Stomach’ section?

�

�

10. At the end the author says: ‘Isn’t your body clever?’ Do you agree? Why or why not?

�

�

Questions about Your  
Digestive System

Page 2 of 2



1.  Why do you have to chew food before it goes down the oesophagus?

To break it down to be smaller and softer pieces to move down the oesophagus and 
through the body. If it were too big or too rough, it might hurt you or get stuck.

2. What mixes with the food in your mouth?

Saliva

3. How much food does the average adult eat in a year?

500kg

4. Put these organs in the correct order to show the stages of the digestive system:

mouth, oesophagus, stomach, small intestine, large intestine

5. Where in your body does all the waste go right before it leaves the body?

Large intestine

6. What has the author used an exclamation mark after the word ‘head’ near the end of the 
‘Before the Stomach’ section?

Because it is surprising that the body can do this.

7. What does  ‘chyme’ look like?

Porridge

To engage the reader/make you read on.

8. Why has the author started the text with a question sentence?

To tell you how to say the word. The word oesophagus is a tricky word and is not written 
how it is said.

9. Why has the author written ‘(say: a-soff-a-guss)’ in the ‘Before the Stomach’ section?

Open-ended for discussion.

10. At the end the author says: ‘Isn’t your body clever?’ Do you agree? Why or why not?

Answers

Questions about Your  
Digestive System





1. Why do you have to chew food before it goes down the oesophagus?

�

�

�

�

2. Name something that happens to the food whilst in your stomach.

�

�

�

�  

3. How much food does the average adult eat in a year?

�

4. Put these organs in the correct order to show the stages of the digestive system:

	 large intestine		  mouth		  small intestine		 stomach		  oesophagus

�

5. Where in your body does all the waste go right before it leaves the body?

�

6. In the ‘After the Stomach’ section, the author has used brackets to remind us that the food does not look 	

    like food at this point. Why doesn’t it look like food? 

�

�

�

�

�

�

�

Questions about Your  
Digestive System
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7. Why has the author used an exclamation mark after the word ‘head’ near the end of the ‘Before the Stomach’ 

section?

�

�

�

�

8. What does ‘chyme’ look like?

�

�

9. Why has the author started the text with a question sentence?

�

�

�

�

10. Why has the author written ‘(say: a-soff-a-guss)’ in the ‘Before the Stomach’ section?

�

�

�

�

�

�
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1.  Why do you have to chew food before it goes down the oesophagus?

To break it down to be smaller and softer pieces to move down the oesophagus and 
through the body. If it were too big or too rough, it might hurt you or get stuck.

2. Name something that happens to the food whilst in your stomach.

Accept any answers from: breaks down more, gets stored for a while, mixes with acid/juices/
enzymes, or the juices in there help kill bacteria in the food. 

3. How much food does the average adult eat in a year?

500kg

4. Put these organs in the correct order to show the stages of the digestive system:

mouth, oesophagus, stomach, small intestine, large intestine

5. Where in your body does all the waste go right before it leaves the body?

Large intestine

6. In the ‘After the Stomach’ section, the author has used brackets to remind us that the food 
does not look like food at this point. Why doesn’t it look like food? 

Any answers that give reference to; it has been broken down, it has been chewed and 
swallowed, it looks more like porridge, or enzymes, acid and  juices have mixed with it.

7. What has the author used an exclamation mark after the word ‘head’ near the end of the 
‘Before the Stomach’ section?

Because it is surprising that the body can do this.

Porridge

8. What does ‘chyme’ look like?

To engage the reader/make you read on.

9. Why has the author started the text with a question sentence?

To tell you how to say the word because it is a tricky/ unusual word to pronounce.

10. Why has the author written ‘(say: a-soff-a-guss)’ in the ‘Before the Stomach’ section?

Answers

Questions about Your  
Digestive System





1. Why do you have to chew food before it goes down the oesophagus?

�

�

�

�

2. Name something that happens to the food whilst in your stomach.

�

�

�

�  

3. How much food does the average adult eat in TWO years?

�

4. Put these organs in the correct order to show the stages of the digestive system:

	 large intestine		  mouth		  small intestine		 stomach		  oesophagus

�

5. Where in your body do the nutrients and goodness come out of the food to go into the rest of your body?

�

�

�

6. In the fact file, the author tells you about a thing called a ‘Pillcam’ – why would doctors find this useful?

�

�

�

�

�

�

Questions about Your  
Digestive System

Page 2 of 3



7. Why has the author used an exclamation mark after the word ‘head’ near the end of the ‘Before the Stomach’ 

section?

�

�

�

�

8. What is ‘chyme’?

�

�

9. Why has the author started the text with a question sentence?

�

�

�

�

10. Why has the author written ‘(pronounced: a-soff-a-guss)’ in the ‘Before the Stomach’ section?

�

�

�

�

�

�
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1.  Why do you have to chew food before it goes down the oesophagus?

To break it down to be smaller and softer pieces to move down the oesophagus and 
through the body. If it were too big or too rough, it might hurt you or get stuck.

2. Name something that happens to the food whilst in your stomach.

Accept any answers from: breaks down more, gets stored for a while, mixes with acid/juices/
enzymes, or the juices in there help kill bacteria in the food. 

3. How much food does the average adult eat in TWO years?

1000kg (2 x 500kg)

4. Put these organs in the correct order to show the stages of the digestive system:

mouth, oesophagus, stomach, small intestine, large intestine

5. Where in your body do the nutrients and goodness come out of the food to go into the rest of 
your body?

Small intestine

6. In the fact file, the author tells you about a thing called a ‘Pillcam’ – why would doctors find 
this useful?

To look for something wrong/any problems on the inside of someone’s digestive system.

7. What has the author used an exclamation mark after the word ‘head’ near the end of the 
‘Before the Stomach’ section?

Because it is surprising that the body can do this.

A substance that looks like porridge that contains broken down food mixed with acid, juices 
and enzymes

8. What is ‘chyme’?

To engage the reader/make you read on.

9. Why has the author started the text with a question sentence?

The word oesophagus is a tricky word to read and say, and is not pronounced how it is spelt.  

10. Why has the author written ‘(pronounced: a-soff-a-guss)’ in the ‘Before the Stomach’ section?

Answers

Questions about Your  
Digestive System
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